- MCR 3U0 Semester 1, 2010 - 2011

Grade 11 Functions (University Preparation)
! Unit 3 — Quadratic Functions - Quiz on 3.1 -3.4
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I. Find an equation, in vertex form, of the parabola shown at the right. (5 KU) 1 |
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2. Farhan hit a baseball with a bat. The height of the ball is given by the function k(t) = — 4.9t* + 30t + 0.8, where h(z) is the
height in metres and # is the time in seconds. As soon as the ball was hit, Raajiv started running in an attempt to catch the
ball. If Raajiv caught the ball just as it was about to hit the ground, how long did he have to run before catching the ball?
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). Simplify (4— «,ﬁ][5+ -JEE] Express your answer in simplest form. (5 KU)
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1. The profit P(x) of a book company, in thousands of dollars, is given by the function P(x) = - 6x° + 540x — 3800 where x

is the amount spent on printing costs, in thousands of dollars. (10 APP) P ey
3

a) Determine the maximum profit the company can make.
b) Determine the amount spent on printing that will result in the maximum profit.

¢) What amount must be spent on printing to obtain a profit of at least $7 000 000? . / S \ - B
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